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aper Code - 2019 (A) Roll No:

lumber: 4195 INTERMEDIATE PART-II (12" CLASS)

AATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
yROUP-1 OBJECTIVE MAXIMUM MARKS: 20

{ote: You have fuur choices for cach objective type question as A, B, C and D. The choice which you
rink is correct, fill thut bubble in front of that question number, Use marker or pen to fill the bubbles.
‘utting or filling two or more bubbles will result in zero mark in that question, Attempt as many
uestions as given in objective type question paper and leave others blank. No credit will be awarded in
ase BUBBLES ure not filled. Do not solve questions on this shect of OBJECTIVE PAPER.

).No.1

2
(3 [jx(b; = (A) 3 (13) 2 (€ (D) 0
1
1
i2) Jldx = (A) 2¢nx (B tr2 Q) én(ly (D) end
X
1
(3) J'SE_“ dx = (A) 3% (B 205y (O ST pns (D) 2(5F éns)
(4)  Distance of line x + 2y + § = 0 fromoriginis=  (A)1 (B V5 (OS5 (M2

(5) Length of perpendicular from ( 1, 1 ) to the line 4x = 3y + 9 = 0 equals:-

(A)2 (B)< . (C)3 {09
(6)  Equation of horizontal line through ( 2, 3 ) is:- Ay y=3 (Byy=2 (Gx=3 (D)yx=2
(7)., . Slope of vertical ling is:- (MO @l (Oew (D)2
(8) If 3x+2y 56, point does not satisty:- (A) (1,0) (By(o, 1y (©(0,0) (D)(3,2}
@) ¢ Radivb of ircle x? + p> - dx -6y =0 is:- (A3 BT OV O
IR EEE
(10) * .Direotrix,of parabola x* = 20y is:- (Ayx=10 (Byx=5 (C)y=-5 D)x=-3
(I tl‘urabblu..r?'uz -8y opens:-
UL A Rightwards (B) Leftwards (€) Upwards (D) Downwards
(12y  Magnitude of vector 6i + 3/ — 2k is:- (A) 7 B e (O3 (Dy-2
(13 _Directiun cosines ol y — axis are:-
) l 1 |
Ay G,0,1 B3y 1,0,0 (C)o,1,0 () oy o s
33T

(14) .\iIf Sixy= 2 o+ Jthen f(x) is:-

{A) Constant [unction (B) Even function {C) Odd function (D) lmplicit function

= 2
S Xt —bx+ 8
(15) linNEe——22 1.2 .
x4 x =4

(A) 4 (B) 2 (€) 6 (D) 8

(16) x= :J cosf, y=l3sinf represents- {(A) Line  (B) Circle (C)Ellipse (D) Hyperbola

(7). U f(x)y=sinx, then {5/ = Wo B Q)2 o -1
{
(18) —:}-»-(umhx] = (A) —cosech®x (B) cosech’x (C) tan hx (D) cothx sechyx
I
. Jd 2 2 2 3
(19 _‘E{c-‘. )= (A) e" (B 2e*  (C) 2xe” (D) 2¢*
5 '.s-‘inz;: . . . .
(20) I — X = {AysinZx +c¢ (B) 2sinZx+c¢ (C) —sinx+¢ (D) Zsinx+c
- c4sing o 2
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- - INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II
GROUP-1 SUBJECTIVE

NOTE: - Write sumie question number and ity part number on answer book,

as given in the question paper.

SECTION-I
‘Attempt any ecight parts.

- Find the domain and range of f(x) = \sz -4
If f(x)=2x+] g(x)=x? -1, find gof (x)

.l =cosx
Evaluate Lim ,I

x~— 0 sin”x
2

. . X
Differentiote —;

+1
- wrl X
x© =3

2 )
If y=x*+2x? + 2. then show that -a;y—=4qu—l
Find-‘{‘-}: if y2 —xy--Jr:z +4=0

dx

8 . | 4
Differentiate x? — — w.rt x

4
o
If y= sin® x, 4 =sinx, then find —f

L. dy
Find — if y = xcos
i y 0s ¥

Find f/(x)=7,if f(x)=n(e* +e7¥)

- Define'Critical Value.
iy . ._:St;l_tc_ the Maclaurin's Series.
~ Attempt any cight parts.

Find 6y if y=x? +2x when x changes from 2 to 1.8.

b Ix
Evuluate —-——-—I,..._.f_ x>0
.J-\;x+l—sf;

Evaluate I\,'I —ous2x dx | l —cos2x >0

Ev:i{uala _‘--Xg dx
'\f‘t + ):2

Evaluate I_ﬁaxm dx
. \Jaz - x4

Evaluate I(fnx)z dx

X

dx
2242

. 2
IE\:rnlﬁntcl j
|
3

‘Evaluate j- ,,dx

x*+9

Solve secx + tan y— =0
Y

TIME ALLOWED: 2.30 Hours
MAXIMUM MARKS: 80

E§x2=16

Bx2=16

Find t"hc area between the x —axis and the curve Y= cos;— from x=~7m to 7.

‘Draw the gruph and shade solution region for 5x - 4y < 20

Define Optimal Solution.

P.T.O.
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4. ‘Attempt any nine parts, 9x2=18
) Find the mid point of the line segment joining the points [ -5, —13 ) and {-345,5 )
{ii) Find "K' so that line joining the points  A(7, 3) und B(K, —6) has a slope Ji
(i1} Find the equation of {ine passing through the point (=9, 0) and has a slop -4 .
(iv}  Detine ‘Homogencous equation’ of degree n where 'n' is a positive integer.
(v) Find the equation of circle with centre (-3, 5) and radius 7.
(vi) Find the coordinates of vertex and focus of the parabola 1= 4{y-1)
(vii)  Find the equation of Ellipse having foci (13, 0) and minor axis ef length 10.
. 2
(viii})  Find the coordinates of foci and vertices of Hyperbola i %— =]
(ix} Define “Position Vector” of a point..
(x) lf‘a§+(a+l}i'+2£|=3,&1enﬁndvalueof'a'.
(xi)  Find '@’ so that the vectors 2i + @/ + 5k and 3i + j + ak are perpendicular.
(xii) Find axp if a=2i+ -k and b=i-j+k
(xili)  Prove that the vectors { -2/ + 3k, -2i+3j -4k and i -3+ 5k arecoplanar.
L SECTION-II
NOTE: - Attempt any three questiors. 3x10=30
5.a} Provethat - lim 3le =l & is measured in radians.
g0 O
(b)  Find the extreme values for the function f(x)=(x- 2 (x=1)
6.(a)  Show thit '[n.} ~xtdx= —S: Q -)-c- + —1||a -x +c
(b The pomts (4,-2), (~2,4) and (5, 5) are the vertices of a triangle. Find in-centre of the triangle.
V3
& |
7. (a) Evaluste I _S,ﬁ..___i‘z- de xel, -l
4 Jl=-x
2
(b)  Graph the feasible region of the following system of linear inequalities and find the comer points
2x -3y <6
2x + 3y <12
x20
yz0
$.(a)  Find an equation of the line through the intersection of the lines x - y =4 =0 and 7x + y + 20 = 0
and parallel to the line 6x+ y-14=0
{b)  Show that the circles x? ¢ y2 +2x -2y ~7=0and X2+ },2 - 6x + 4y + 9 = 0 touch externally.
9.@) " Find an éduuiion of the parabola having focus at (=3, t } and directrix is x = J.
(b)  Prove that the line segment joining the mid points of the sides of 4 quadrilateral taken in order

farm a parallelogrum.
- 14-2019(A)-18000 (MULTAN)
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Number: . 44192 INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles.
Cutting or fifling two or mure bubbles will result in zero mark in thut question. Attempt 4s many
questions as given in objective type question paper and leave others blank. No credit will be awarded in
cuse BUBBLES nre not filledd. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) U f(x)==x +cosx,then f(x)is:-
(A) Constant function {B) Even function  (C) Odd function (D) Linear function
@ I f(x)=x =22+ 4x -1, then f(-2}:- (A) 14 (B)~14 (=25 (M2
/ 9
3 -{*— 4,' + ? )
(3) dx( v )
(A) 36(4x +7)® (B) 36(4x+7)°  (C) 28(4x +7)° (D) 63(4x+ 7)°
4) 16 f(x)=2% then f'(x)=
2x -1 Pl 2x + | 22,t'
(Ay 2°F (B) 2% én2 (C) 2°F* 'tn2 (D)
fnl
(5 i( Cos™ f] =
dx a
| | . 1 -
l-x b+ x° vlal ~ x? \.fal e
© 10 S =50 then S7(1) = (A) 90 (B) 9 (C) 10 (D) 100
(T e l-d;= (A) tnx + ¢ (D) x4 (Cy —z + ¢ (DY :—l +¢
RS % i e
(%) "'J.'tan%f"dx'z (A) En(sin%]+c BYx+c (< seczfz (M1
{I‘)I},I -[St‘.‘(.Q ﬁxcb = (A) —;—tan 2y (D) tanx {Cy %lan x (D) 2tan2x
bk .g{ . 1
2
(10) jcnsx dx = (A) 0 (B) 1 {€j=1 2) 2
0 .
(1 Distunce of line Sx + 12y + 39 =0 from (0. 0) is:- (AY3 (B) S (C)12 (139
(12) liquation of horizontal line through {a, &) is:-
(A) y=d {B} y=h (C]X“:Q (D)X=b
(13)  Theline ux + by + ¢ = 0 will represent cquation of straight line paraliel to y - axis it
(A)a=0 (B)b=0 () c=0 (Dya=b
(14) Point- (+% ‘% ] lies in- (A} Tquadrant (B) Il quadrant (C) [1] quadrant (D) IV quadrant
(15)  The point (1, 2 ) satisfies the inequality:-
(A) x+ 2y >3 {(B) x ~2y >3 (Cyx—-2y>5 (D) x+2y <3
(16)  Radiusofcircle x* + y? +dx+2y-4=0is- (A3 B2 (©4 DI
(17)  Latus rectum of purabola x? = By is-
(A) y==2 (B) y=2 (©x=2 (D) x=-2 N
o ; 2 2
(18)  Major axis of ellipsc fﬁu % }1’—2 =1 is- W23 B8 O3 (DS
(19} Direction cosines of x - axis are:- AVLLO 3L, (©1L0,0 (16,01
Q) lk iyl - AY3 B 0 (©) -2 (D)
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« E “INTERMEDIATE PART-II (12" CLASS) -
MATHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours

GROUP-II . SUBJECTIVE MAXIMUM MARKS: 80
NOTE: - Write same question number and its part number ou answer book,
I+, {48 glVen in the question paper.
ECTION-I
2. Attempt any eight parts, Bx2=16
(i} Find the domain and range of f(x) = | x - 3!
Gy £ =3x* -2x2 g = % x#0, find gof(x)
x ;
l - cost

(i)  Evalvate Lim —
g 0 sind

3
(iv}  Differentiate = wrd x.

(v If y=(x-5)(3~x),llwnﬁnd%‘t
iy

Aviy If X%+ 'yz = 4, (hen show that <4 = -
dx 4 52
(vii) Differentiate (1 +x2)" wrt x*
s s ; dy
- (vitl) Tf y=sinx, w =cotx, then find e
(1
(ix)  Show that & = l, T &
dr  x x X
) Find f(x), if f(x) we¥r-l
. (xiy:; Define Critical Point.
' (xii) State the Taylor's Series.
3. Attempt any ¢ight parts. _ 8x2=16
"y " 'Find' 8y if y =+x when x changes from 4 to4.41.
Gy Bulae [IISOZ 4 (cos2x # =1}
J 1+ coslx
o ,X 13
Giiy  Evaluate M ddx
L v
(iv)  Ewvaluate cotx dx, x>0
J x
" sec? x
(v)  Evoluate dx
' cJ Nilanx

(viy  Evaluate | xsinxdx

0
(vii} Evaluate J.—l?cir
(2x - 1)*
-2

(vili} Ewaluate |} &nx ox

——— 1D

2 g dy
X Solve sin — =1
(x) in p coseex —-

" (¥)  Find Area bounded by cos function from x = :iﬁ o x= g—
(xi) -+ Graph the Solution Regton for Jx -2y 26

(xii)  Define “Ohjective Function”.
P.T.O.
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(2)
4. Alttemipt any uine parts. ' 9x2=18
1 (i) . Findthe co-ordinates of the point that divides the join ot A(~ 6, 3) and B{ 5. — 2}in the ratio 2:3
internally.
(i1) Convert equation 4x + 7y — 2 = 0 into two intercepts form.

(iii} Stiow that the point (-2, 4) lies above the line dx + 5y -3=0.

{iv) Detine *Medians® of triangle.

(V) Find the slope of 1angent to circle x5 y2 =25 at point (4, 3).

(vi) Find the co-ordinates of vertex and focus of the parabola v = 6x% -1

(vii)  Find the equation ot the Ellipse with foci (& '.‘hﬁ. 0) and vertices (£06, ()

(viii)  Find the equation of the Hyperbola with the centre (0, 0) Foci (6, 0) and Vertices (14, 0).

(ixy I 3B = CD . Find the coordinates of the point 4 when points B, ¢, 2 are {1, 2), (- 2,5 (4,11
respectively.

x) Find a vector of length 5 in the direction opposite that ofv=i-2/+ 3k .

(xi)  Find value of 'a' so that vectors ai + 2aJ + k and i+ aj+ 3k arc perpendicular.
(xil)  Define directian angles ot a vector.

(xiii)  Find u.(vxw) when u=[30.2k v=[1,21] and w=[0.=1 4]

SECTION-11
NOTE: - Attempt any three questions. 3x 10=30

. = ) B
S.(a) . Evaluate lim M
- 90 sin’0

(b)y If x=a cos® 6, y= bsin® @ show that a% +htang@ =0

Tx -1
(x-12 (x 1)

6.(a) Evaluate '[ dx x>1

(b} Find equagions of the altitudes of the triangle whose vertices are A(=3,2), B(5 4), C(3,-8)

7. (@)  Determine the area bounded by the parabola y = x? +2x - 3 und the x-axis,

(b)  Graph the [wasible region of the following system of linear incqualities
Ix+Tys2l
v-ysld
xr20

yz0

8. (a) Find the lines represented by 3x? + Txy 4 2y2 =0 Also find measure ol the angle between them.

() Find an equation of the cirele that passes through A( 4. 5). Br-4,-3), C(8, -1

' i
[T |

9.(a) Show that the equation 9x2 — 18x + 4y2 + 8y — 23 = 0 represents an ellipse. Find its clements.

b Using vector method, in any triangle ABC prove that — - ,
(®) B . ¢ B sinAd  sinf sinC
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